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0 Awondmohig péyav ABov aiper kol &k 100 dypod géper.

VOCABULARY

51& b xpdvog, time 2yt
aipel, he/she lifts \T Pronoun :

Badiler, he/she walks; hel/she o\t adtév, him
goes Adjectives
ka@iler, he/she sits ioydpdg, strong G
9éper, he/she carries yohende, difficult o0
Nouns Preposition
0 fjArog, sun <o\ npdg + acc., to, toward

0 Atkodmolig &v 1 &ypd movel- TOV Yap dypdv okdmrel. pakpde
€oTv 0 movog kol xohemdg: tobg Yop AiBovg ék Tod Gypod @épet.
néyav Abov aiper kai géper mpdg 10 Eppa. ioydpde éotv & EvBpwmog
GAAG TOADY xpovov movel kal uddo kdpver. @Aéyer yap 6 filog kol
kotatpifer adtév. xabiler odv Hrd T® 3évdpw kol Novydlel od
mOALY xpovov. &1’ OAiyov yop émoiper Eovtov kol movel. Télog OF
Kotadovel 6 Ao, odkétt odv movel 6 Awcondmolig GAAG TpOC TOV

oikov Badiler. B
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[&v ©® Gyp®, in the field oxdnrer, he is digging tovg...AiBovg, the stones éx

©0% aypod, out of the field péyav, big 10 Eppo, the stone heap  moAdV xpbvov;.
for a long time  paAo xGpver, he is very tired Aéyer, is blazing _nQ.a,Qavxmmmf )
wears out  Vwd TH m?ﬁnev under the tree . fovydCet| he rests 81’ dAiyov, soon |

himself, gets up [ wtAog, adv., finally xotadlver, sets |
\ | ( Y

tnaipey tovrdv, he'lifts
ovkbri, no longerl [

(
|
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WORD BUILDING

What is the relationship between the words in the following sets? You have
not yet met two of these words (pidoc and yswpydc). Try to deduce their mean-

ings (they both refer to people) from studying the relationship between the
words in each set:

. oikel 0 olxog

2. movel O movog

.  yeopyel 0 yewpydg
4,  @ilel 0 othog
GRAMMAR

b. Accents

Attic Greek has three kinds of accent marks: acute ’, grave *, and cir-
cumflex ~. The acute accent will be found only on one of the last three syl-
lables of a word, e.g.: &vBpwnoc, Aéyel, poxpdc. An acute accent on the final
syllable of a word will be changed to a grave accent if it is followed im-
mediately by another word with no punctuation (comma, semicolon, or
period) in between, thus dAA& + xaddc > GAAG kKoddG.

An important exception to this rule occurs when enclitics, words such
as ¢o7i(v), which usually lose their accent and instead “lean upon” the
previous word for their accent, follow words with an acute accent on their
final syllable, e.g.:

yolendg + €oti(v) becomes yolendc Eoti(v).

The acute on the final syllable of yalerdg does not change to a grave
when the word is followed by an enclitic, and the enclitic loses its ac-
cent.

Note also what happens when words accented like &vBpwonog, névog, and
oikog are followed by enclitics:
&vBpwrog + £oti(v) becomes Gvlpwndg EoTL(V).
An acute accent is added to &v@pwnog, and the enclitic loses its accent.
ndvoc + £o7i(v) remains ndvog £oTi(v).
The enclitic keeps its accent.

olkog + £oti(v) becomes oikdc £6Ti(V).
An acute accent is added to oikog, and the enclitic loses its accent.
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Exercise 1f3

Copy the following Greek sentences and label the function of each noun
and verb by writing S, C, DO, LV, TV, or IV above the appropriate words
(do not label words in prepositional phrases). Then translate the pairs of
sentences. When translating from English to Greek, keep the same word
order as in the model Greek sentence. Pay particular attention to accents,
following the rules given above. Do not forget to add the movable v where
necessary (see Grammar 1, page 4).
L. 0 Awondrnodg odk oikel v toig "ABAvarc.

The farmer walks to the field.
2.  paxpdg éotwv 6 drypée.

The house is small.
3. 0 abdrovpyds Eotwv toybpdc.

Dicaeopolis is a farmer.
4. 0 xAijpog moAdv citov mopéyer.

The man carries the big stone.
5. 0 &vBporog tov oitov Tapéyer.

Dicaeopolis lifts the small stone.

O KAHPOX

Read the following passage and answer the comprehension questions:

Houepdg €0ty O Tévog kol xohermde. & 8 aTOVPYOG 00K OkVel BAAN’ del yewpyel
Tov kAfipov. Kkaddg yhp éotv O KAfipoc kol moAbY oitov nopéyel. yoiper odv 6
avBpamnog- 1oydpoc Yép ot kol o TOAAGKIG KAUVeEL.
[oxvel, shirks]
1. What is the farmer not doing? What does he always do?
2. What does the farm provide?
3. Why does the man rejoice?

Exercise 1y

Translate into Greek:

1. Dicaeopolis does not always rejoice.

2. He always works in the field.

3. So he is often tired; for the work is long.

4. But he does not shirk; for he loves his home.
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Classical Greek

Heraclitus

Heraclitus of Ephesus (fl. 500 B.C.) was a ﬁrzomé_::. who maintained
that, despite appearances, everything was in a continual mem_.ﬁo of change.
Plato (Cratylus 402a) quotes him as saying “You cannot step into the same

river twice.” . L
In the same passage of the Cratylus, Plato reports that Heraclitus said:

navTo Yopel kol 00SEV pévet.
9 . 4
[nbvio, everything  xopel, is on the move  00d&v, nothing  pévey, stays
(unchanged)]

New Testament Greek
Title of the Gospel of Luke

The New Testament readings in Book I of Athenaze are .emec from the
[Holy Gospel according to Luke. Here is the title of this gospel in Greek:

TO ATION EYATTEAION TO KATA AOYKAN
or

70 &yov edoryyéAiov TO Koo Aovkow
[td, the &ywov, holy  edayyéhov, good news, gospel (= Old English god, “good
I spel, “news”) xatd, according to]

A farmer in contemporary Greece, carrying a kid



